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Secondary Examination, 2025
Model Paper
English
Time : 3 Hours 15 Minutes
Maximum Marks: 80

GENERAL INSTRUCATION TO THE EXAMINEES :-
. Candidate must first write their Roll No. on the question paper compulsorily.

All the questions are compulsory.
. Write the answer to each question in the given answer book only.

4. For question having more than one part, the answers to those parts are to be written together
in continuity.

. Write the correct serial number of each question as mentioned in the question paper.



Section — A
(Reading)
1) Read the following passage and answer the questions that follow:

The Rig Veda is India's most ancient text. As we know that it is several thousand years old.
It gives the northwest region of the Subcontinent the name 'Sapta Sindhava', that is 'the Land of the
seven rivers'. The word 'Sindhava' comes from 'Sindhu', which refers to the Indus River. Moving
on in time, we see names for other parts of India appear in the literature. The Mahabharata is one of
India's most famous texts. It lists many regions such as Kashmir, Kurukshetra,Vanga, Kutch,
Kerala.
The Mahabharata uses the terms "Bharatavarsha" and Jambudvipa. Bharatavarsha means the

country of the Bharatas and Jambudvipa means the "Island of the fruit of the jamun tree".

i) India's most ancient text is : (1)
A)  The Yujurveda B) The Ramayana
C) TheRig Veda D) The Sama Veda
ii) The Word sindhava comes from (1)
A)  The Rig Veda B)  Sindhu
C)  The Hindu D)  India
iii) The Indus river refers to: (1)
A) India B)  The Mahabharata
C) = Sindhu D)  Sapta Sindhava
iv) The part which is not listed in the Mahabharata : (1)
A) Kashmir B) Vanga
C) Kerala D) Bihar
v) Choose the similar word of the following from the passage :-
"Well known'": (1)
A) Region B)  Refer

0] Appear D)  Famous



vi) Choose the opposite word of the following from the passage :

"Modern' : (1)
A)  Several B)  Ancient
C)  Famous D)  Northwest

2) Read the following passage and answer the questions that follow:

Harappa and Mohenjo-daro, now in Pakistan, were the first two cities of this
Civilisation to be discovered; their indentification goes back to 1924, a century ago.
Several sites followed in the Indus plains known as 'Indus Valley civilisation ;

Later on Dholavira in Gujarat, Rakhigarhi in Haryana, Ganweriwala in Pakistan
and Lothal in Gujarat were discovered. It is interesting to note that the Sarasvati basin
includes not only two major cities . —Rakhigrhi and Ganweriwala but aslo several
smaller ones Farmana, Banawali, Bhirrana in Haryana and Kalibangan in Rajasthan.

The larger Harappan cities were built according to precise plans. They had wide
streets which were often oriented to the cardinal directions. Most cities seen to have
been sorrounded by massive wall and had two distinct parts — 'the upper town;' where
the local elite lived and the "lower town" where common people lived.

Some large buildings seen to have been used for collective purposes — for
instance, warehouses where goods were stored. Individual houses of various sizes
lined the streets and smaller lanes. The construction was the same for small and big
houses. All buildings were made of bricks.

The famous 'Great Bath' in Mohenjo-daro, a small but elaborate tank which
measured about 12x7 metres and had waterproofing materials applied on top of
carefully laid-out bricks. The tank was sorrounded by small rooms, one of which
contained a well; there was a drain in one corner of the tank to empty it from time to
time and refill it with fresh water.

i) Where are Harappa and Mohenjo-daro ? (1)
1) When were the Harappa and Mohenjo-daro civilisations discovered (1)

iii) Where is Lothal civilisation ? (1)



iv) Where did the common people live ? (1)

v) What was the use of a drain system ? (1)
vi) What was the purpose of the large buildings ? (1)
vii) Mention the names of cities which belong from Haryana and
Rajasthan ? (1)
viii) Write the similar word of the following from the passage:
"Huge" (1)

ix) Write the opposite word of the following from the passage :

"Ordinary" (1)

(Section — B)
(Writing)

3) You are Khushi living in Sidharth Nagar Ajmer. Last month you went to Udaipur. Write a
letter to your friend Somanshi describing her how you enjoyed this trip. You may take help of the
following points. (5)

1) With whom did you go to Udaipur ?

i1) Where did you stay ?

ii1)) What places did you visit there ?

1v) Duration of the trip .

OR

You are Ritesh living at 47 Pratap Nagar Alwar. During the rainy season there is very poor
condition of cleanliness and drainage system. Write a letter to the editor of '"The Hindustan Times'
complaining about the sanitation problem in your area.

4) Write a story with the help of given outline in about 80 words. Give the title and moral to

it. @)

Two cats............. a piece of bread............ divide............ one piece
bigger............ quarrel ............. a monkey .............. judge.............. cuts the bigger piece ............ piece
smaller............ cut the other piece .............. refuses ............ says.......... reward of his labour



grapes......... high......... jumps............ tire ............ grapes are sour ............... goes
away.

5) Write a paragraph in about 80 words on the picture given below : (4)

You are Sangeeta/Sangeet. You go for a walk daily in the morning in the nearby park. One
morning you found a smart mobile phone there. How did you feel to find it and how did you find

the owner of the mobile phone and return it ? Write a parpagraph in about 80 words.

You may begin like this :

I am Sangeeta. I read in class 10™. I get up early in the morning............. .
Section — C
(Grammar)

6) Fill in the blanks with appropriate forms of the verbs given in the brackets :
i) The annual examination ............... next month. (Start) (1)
ii) Towns............. into cities these days. (Change) (1)

Choose the correct verb form from the given alternatives:

iii) Divya Pratap ............... recently.......... his syllabus. (1)
A) have,revised B)  has, revise
O has, revised D)  have, revise ( )

iv) Sanjana............ food at this time tomorrow. (1)



A) Will cooking B)  Will be cooking

0] is cooking D)  cooks ( )
7) Rewrite the following sentences changing them into Indiret Speech :
i) Shlok said to Yatharth, "Let's play chess." (1)
ii) Lavisha said to Bhojraj,"Do you read this book today ? (1)
8) Fill in the blanks with a verb in agreement with its subject :
i) Slow and steady............. the race. (win/wins) (1)
ii) People ......... celebrating Diwali. (was/were) (1)

9) Change the following sentences into passive voice :
i) Who stole the watch ? (1)
ii) Did she write a story ? (1)
10) Frame question of the following sentence :
i) How long .......ccoveveneee.. ? (1)
Ans. Kamal can read for seven hours.
ii)  Add question tag to the statement given below. (1)
Pradhyuman will teach English, ..............
Section — D
(Text Book)
11) Read the passage given below and answer the questions that follow
There was a girl named Valliammai who was called Valli for short. She was eight years old
and very curious about things. Her favourite pastime was standing in the front doorway of her
house watching what was happening in the street outside. There were no playmates of her own age
on her street and this was about all she had to do.
But for Valli, standing at the front door was every bit enjoyable as any of the elaborate
games other children played. Watching the street gave her many new unusual experiences.
The most fascinating thing of all was the bus that travelled between her village and the

nearest town. It passed through her street each hour, once going to the town and once coming back.



The sight of the bus filled each time with a new set of passengers, was a source of unending joy for

Valli.

i) Valli was ............... Years old. (1)
A) Nine B) Ten
O) Eight D) Six
i1) Valli was standing at the........ (1)
A) Roof B)  Front door
C) Playground D) Street
iii)  How many playmates did Valli have ? (D)
A) Two B) Six
0] Eight D) None
iv)  What was the most fascinating thing for Valli ? (1)
V) Based on your reading of the passage write about Valli: (1)
vi) Write the similar word of the following from the passage :
"Observing" (D)
OR

Mij and I remained in London for nearly a month. He would play for hours with a
selection of toys, ping-pong balls, marbles, rubber fruit, and a terrapin shell that I had
brought back from his native marshes. With the ping-pong ball he invented a game of his
own which could keep him engrossed for up to half an hour at a time. A suitcase that I had
taken to Iraq had become damaged on the journey home, So that the lid, when closed,
remained at a slope from one end to the other. Mij discovered that if he placed the ball on the
high end it would run down the length of the suitcase. He would dash around to the other end

to ambush and hide from it, to spring up and take it by surprise.

1) Mijj played with .............. ?
A) Cricket Ball B) Ping Pong Ball
C) Cork Ball D) Basket Ball

i1)  Who invented a game ?

A) Writer B) Mij



0) 1 D) He

iii)  Writer had taken the suitcase to......... ?
A) America B)  London
C) Iraq D) Home

iv)  How did Mij discover the game ?
v)  Write about the playing items described in the passage .
vi)  Write the similar word of the following from the passage : "Travel"
12) Answer any three of the following questions in about 20-30 words each : (2x3=6)
1) Why did Kisa Gotami go from house to house ? ( The Sermon at Benares)
i1)  Where is Coorg ? ( Coorg)
i11)  What does a jackfruit like appearance mean? (A baker from Goa)
iv)  Where did Anne Frank hide during German occupation? ( From the Diary of
Anne Frank)
13) Answer any One of the following questions in about 80 words : (5)
1) I'll take the risk" What is the risk? Why does the narrator take it?
( The Black Aeroplane)
i1)  How did Mandela's understanding of freedom change with age and experience?
(Nelson Mandela: Long Walk to Freedom)
14) Answer any One of the following questions in about 40 words : @3)
1) Write the character sketch of Natalya? ( The Proposal)
i1)  What is the reason behind the quarrelling of Natalya and Lomov ?
15) Read any one of the following extracts and answer the questions that follow: (
If ever you should go by chance
To jungles in the east;
And if there should to you advance
A large and tawny beast,
If he roars at you as you're dyin'

You'll know it is the Asian lion.



1) Where to go to know the Asian lion?

N
~

ii) ~ What kind of animal is the Asian lion ? )
OR
Custard the dragon had big sharp teeth
And spikes on top of him and scales underneath,
Mouth like a fireplace, chimney for a nose,
And realio, Trulio daggers on his toes.
1) Who had big sharp teeth ?
1) What type of mouth and nose did the dragon have?
16) Answer any two of the following questions in about 20 words (2x2=4)
1) How does the fog come? (Fog)
i1)  Why is the boy so upset ? (The Ball poem)
i)  Is Amanda an orphan? Why does she say so ? (Amanda!)
17) Answer any One of the following two questions in about 80 words : @)

1) The twentieth century is called the" Era of the book" and the twenty first
century is the "Era of the computer". Do you think books are being replaced by
the digital content. Give your ideas about the usage of digital books (The Book
that Saved the Earth)

i1) _Scientists Contribute to make the world a better place. Griffin was Scientists
and invented something. What was the invention and what was the interesting

incident based on the story ? (Footprints Without Feet)

18) Answer any two out of the following three questions in about 20 words each: (2x2=4)
1) Who was Horace Danby ? Why did he steal something every year? (A Question
Of Trust)
i1)  Write the species and sub species of butterflies which was collected by Richard
H. Ebright. (The Making Of A Scientist)
iti) "I was really worried about Tricki this time; Who said this comment and why ?

(A Triumph Of Surgery)



19)  Choose the Correct answer :

1) How old was Horace Danby ? (A Question Of Trust)

A) 25 Years B) 40 Years
C) 50 Years D) 60 Years
i1)  Who was mighty ? (The Book That Saved The Earth)
A) lota B) Omega
C) Noodle D) Think-Tank
iii)  Where did the boys see muddy foot print? ( Footprints Without Feet)
A) London B) New York
C) Delhi D) Cap Town

iv)  What was the cost of diamond necklace? ( The Necklace)
A) Twenty Thousand Francs B) Thirty Six Thousand Francs
C) Fifty Thousand Francs D) Eighteen Thousand Francs

kkosksk sk

(1x4=4)
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Eoks| SEGED SICIN gforera
1 EiG] 23 28.75
2. | 3raqr 24 30.00
3. | S9N 14 17.5
4. | PrITe 9 11.25
5. | fageryor 10 12.50
T 100
2. U9l b UhNIRIHIR—
$.| UEl B UBR | UF B | b | Gl | Ufagd | ufdwd | Hwiad
F&r | gl (a7eBT ) (oreit Ay
)
1. | 9gfdddTcHD 18 1 18 225 33.97 20
2. | Raazerm= 6 1 6 75 11.33 15
3. | afergeRicT® 12 1 12 15.00 22.64 25
4. | TgTRIAD 10 2 20 25.00 18.86 35
5. ST 4 3 12 15.00 754 50
6. | FaaTHD 3 4 12 15.00 5.66 50
T 53 80 195
e
ey AT : Wvs ' U9 ‘T Fe
3. fdvyg oxg @1 IPUR—
4. fawg a%q PR fererd
1 | AT SIfAfhaT Td AHIRRUl 6 7.50
2 | 31FcT &1 UG oIquf 7 8.75
3 | grg 3R 3 5 6.25
4 | e Ud S9b I 7 8.75
5 | Sl UhH 8 10.00
6 | =0T vd gE=ayg 6 7.50
7 | g S99 &9 & B 7 8.75
8 | rgdf3repdr 4 5.00
9 | UBTI—URTId dAT IUda 8 10.00
10 | 999 I qAT F—fa¥IT IR 4 5.00
11 | fdega 7 8.75
12 | [Igd arT & Jraid yurg 6 7.50
13 | BRI GITaRoT 5 6.25
Rl 80 100
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Section - A

1. ggfdbourcqd U2 (1 | xvi)—

Multiple Choice Questions 18X1

=1 ool & ITR BT 8! [Adhed o9 wR IR _gRaaT J foiRay |

Choose the correct option to the following questions answer from multiple choice question- (i to xviii) and write it in given
answers book.

i) < <1 g AT & TR H BT B I o— 1
PbO (S) + C(S)— 2Pb(S) + CO (g)

(1) < sl B RET R | (1) PrdTeEdirss STIfId 8 &l 2 |

(1) Bre= Suafdd & <& 2 | (iv) TSemTaITsS AeRId & X8 ¢ |

(31) (i) wa (i) (ET)() gd (i)

(&) ().(i), (iii) <) STgad wi

which statement regarding the reaction given below is false -
PbO (S) + C(S)——> 2Pb(S) + CO (g)

(D Lead is being reduced (IT) Carbon dioxide is being oxidised.
(IIT) Carbon is being oxidised. (IV) lead oxide is being reduced
A) (i) and (i) @) () and (iii)

(@) (),(i), iii) () All of above

(i) @e @ WILTUT BT ST 9 g & forg FrfalRad § 9 o Ay Sugad & 1

SIS (@) e o

@) RNid B wRa FeTdx (@) SUdad |

Which of the following method is suitable to protect an is an frying pan from rusting ?

(A) Applying grease (B) Applying Paint

(C) By zinc plating (D) All of the above

(iii) T @1 *vfdds ¥ CoHe & 398 — 1

(37) 6 AEHAID MM T | @) 7 AEHASD ST T |



() 8 AT IMMEH T | () 9 AT FAID AT T |
The molecular formula of ethane is C, He, it has

(A) 6 Covalent bonds (B) 7 Covalent bonds

(C) 8 Covalent bonds (D) 9 Covalent bonds

(iv) Fe;0s+2A1 — Al,Os + 2Fe

SR <1 T FABAT fhd YbR o & —
(&1) aror srfafshar (@) faforerma arfafear
@) fogroe afafear () faxermus rfafosan
Fe, O3+ 2A1 —» Al,O3 + 2Fe
Which type of reaction is given above -
(A) Combination reaction (B) Double displacement reaction
(C) Decomposition reaction (D) Displacement reaction

(v) @13 faeae arvs & U9 gy wad | AMHIT 3 U A9 I Rl & ol
T B UM Bl GRRAT PR <l © | 59 [IeaT &1 9/ qargu—

(31) Nacl @) Hal

(|) Licl () kal

A solution reacts with ground egg shell to produce a gas which turns the lime water milky.

what will be in this solution.

(A) NaCl (B) Hcl

(C) Licl (D) kel

(vi) ©T 9910 9T IS g0 DI dell 918X | dlell 81 I8l © dl S9PI Aded © b —
(37) WIoH 00 RE W A8 UH B (@) SEH O aRE A e ofel W& § |
() See e B (3) ST G TR H A T 3 |

If the bottom of the vessel is getting black from outside while cooking food, it means that -

(A) ) Food is not cooked completely (B) Fuel'is not burning completely.
(C) Fuel is wet (D) Fuel is burning completely
(vii) TTeT # ST SRR 82—

(a1) STet T a8 (8) | BT g8

() VT 37T T a'd () 3iTRATST BT T8

In a plant xylem is responsible for

(A) Transport of water (B) Transport of food

(C) Transport of amino acids (D) Transport of oxygen

(viii) frr=faRad & & P9 urey 8MH 8 —

(37) ggfers OIIBNIESE

(®) TS (2) Wi

Which of the following is a plant hormone -

(A) Insulin (B) Thyroxine

(C) Estrogen (D) Cytokinin

1



(ix) e @1 #§ g & foy aRas 1 HIFAr 9T STIRERY ® —

(1) yAR<H (@) AeTHRash

(@) TR (2) sTgUReTd

Which part of the brain is responsible for walking in a straight line -
(A) Cerebrum (B) Midbrain

(D) Cerebellum (C) Hypothalamus

(x)mﬁ S @ fafer g —

(o7) fes (9) g
(%) grogHad () B

The method of reproduction in Amoeba is -

(A) Binary fission (B) Multiple fission

(C) Regeneration (D) Budding

(xi) JIatRIEar & S ® § —

(31) ATSHA B @) IR S Head
(%) et At (|) e

The father of genetics is -

(A) Michael Faraday (B) Gregor John Mendel
(C) Marcello Malpighi (D) Newton

(xii) Fe=feiRaa & | Wfde acd & —

SORIEES (9) a1

(&) arg () w
Which of the following is a biological component -
(A) Plant (B) Soil
(C) Air (D) Water
xiii) STt T fFRUS UaTID & —

1) 15 q) 1.31

9) 1.33 ]) 242

The absolute refractive index of water is -

A) 15 B) 1.31

C)1.33 D) 242

Xiv) aR<fIS FIR Td MR QIR & AL FHT BT IR I BT 8—
31) 10 e q) 5 fAse
¥) 2 fiFe Q) 8 fAmIe

The time difference between actual sunset and apparent sunset is approximately -




A) 10 Minute B) 5 Minute

C) 2 Minute D) 8 Minute

xv) ®Is fIgd 99, 220V & SIFFE A ST 82T & | X 9ed 9 0.5 VAR &1 faea
YRT yaTfed 2l 8 df ded &1 wfad grfl—

3) 11 d@Ic q) 110 dIc

q) 440 dIC g) 220 9T

An electric bulb is connected to a 220 V generator. If 0.5 ampere current flows through

the bulb than the power of the bulb :-

A) 11 Watt B) 110 Watt

C) 440 Watt D) 220 Watt

xvi) Tl AT & UfoRIg &1 719 ¥R Brar 38—

31) ATSTd B oIS IR d) ITeAd D U PIC & &ABA WX
q) AreTd b Ui Bl UHid W T) IR W TR

The Value of resistance of a conductor depends on -

A) The length of conductor B) The area of cross- section of conductor
C) The nature of material of conductor D) On all of the above
xvii) TgU & FHY fdgd uRuel H &RT BT AH—
37) gRafda =&l 8T &1 9) A aRafda grar = |
W) 980 HH 8 Wl 2| &) 984 3¥h 3 Sl ¢ |
At the time of short circuit, the value of current in the circuit -
A) Does not change B) Vary continuously
C) Reduces substantially D) Increases heavily
xviil) gHH & T gal H IRER BT 28—
31) SMTHYT ) gfayor
W) MHYY g YFIHHTT ) SWIGd | A HIg el

The homogeneous poles of a magnet have mutual-

A) Attraction B) Repulsion

C) Attraction and repulsion both D) None of the above



2) Raa = @1 gfd @17« Fill in the blanks- 6x1

i) 3 Aol (@i gai) &l [dafed 8ldR T T .o, rfaforar 2 |

The decomposition of green vegetables (Vegetable matter) into compost in

the reaction of ....covvvveevennvennnennn.

ii)3 MnO2 (S)+4 Al (S) 2 4 e T ST

3MnO» (S)+4 Al ($)—2%  +oooooo it Heat
111} IR AT TP el BT T 997 © |

.................. and .................. together form the central nervous system.
iv)3Toie WRa gF & 3 aTefl.. q GRell UeH R o |
The ozone layer provides protection from ............ coming from the sun.
v)1kwh &1 w197 ... S & SRR 3 |

The Value of 1 kwh is equal to ............ joule.
vi) I U forue faefarrell did & AR @l 3Hd BRI dTell JaAPhR BUSal Bl
.................. B T |

A cylindrical coil with several turns of closely wrapped insulated copper
wire 1s called a ...
3)  IRTTERRIAS U : Quesytion - 12x1

i) THSIT o7 b PEd © 7

What is homologues series ?
ii) deT Td JATgTh Wiel UGIdl &l ARglod | yHIfad @i fdhar Siem &7
Why are oils and fat containing food items affected by nitrogen ?
iii) U a9l g & pH &1 919 6 BIdT 8, <81 99 o1 R 59 pH & A4 4

T URadT BN ? FHSSU |

The pH value of fresh milk is 6,Explain what will be happens to

it’s pH when it become curd .

iv) AIfeTd FARTSS B SoldeA fag A= & FHir a1 |




Construct the electron dot structure of sodium Chloride.

v) YaIETd A9 dTel I & 919 qdsy | 1
Name the instrument which measures blood pressure.

vi) AFd d30T 99 @1 Hed BIE] ARG D Sbls BT ATH gy | 1
Name the smallest structural unit of the human nervous system.

vii) A & TRR # YT &1 99T fas gRT 9T 8idm § 2 1

From where does the fetus get nutrition in the mother body ?

viii) 519 fd @ed 8 ? 1
What is gene ?
ix) o4 &@an @1 S.1. A fofay | 1
Write the S.1. Unit of power of lens.
X) YTl & fIgor &7 aRMIia STy | 1
Define Dispersion of Light.
xi) frdT or=Td UfeR™ & UfeRed & RRI A 12v &1 9l &l G w3 I gRu
# 2.5 mA fagd o7 yarfed 8l & UfcRiere o1 iRy aReferd Sy |

When a 12 v battery is connected across an unknown resistor, there is a

—_

current of 2.5 mA flows in the circuit. Find the value of the resistance of the resistor.
Xii) TG & XGRI @ iy af o7 foriRey | Vatlh=1

Write any two properties of magnetic field lines.

Section — B

THTRIHAD U2
4) f=ferRad aifafemamell @ forg |gfora FHiavor forRay | 2

) HeTTH BTsSIISS+HIETSISI RIS — > BIIIH HIaHe + oI

i) Sip+HRIeaR A3ge ——»Nid Arsge+HRicaR
Write balanced equations for the following reactions

1) Calcium hydroxide +carbon dioxide——» calcium carbonate+ water



11) Zinc + silver Nitrate — zinc nitrate+ silver
5) [N @ FeHIR® 3l | fhar TR ST I Il & | MY SHDI gz dd
PP 2

Which gas 1s produced on Zinc’s reaction with sulphuric acid? How will

you Identify it ?

6) SHILH! MTATSS RIT BI & ? TT SHILH! ifaATSS BT ISTERT SR | 2

What are amphoteric oxides ? Give examples of two amphoteric oxides.

7) IIIEY T & IR TdISl & [IRgUST B FHSIEY | 2
Explain the break down of glucose during aerobic respiration.

8) weargad b & o afed FaHsmgy | 2
Explain the process of gravitropism with diagram.

9) SIS Yo & 3L BIC BT AMITDbd (a3 I 8Y gHd (AR AT B
IS | 2
Explain the various part of a angiosperm flower by drawing labelled
diagram of its longitudinal section.

10) AT ¥ foim feaRor &1 aRRad fF gRT T=m=y | 2
Explain sex determination in humans with the help of a schematic diagram.

11) 15cm ®IHH X1 & Addel QUYL H 25¢m T TR U g <9I TS 7 |

U | o g IR BT U &1 @ oY 6 ud R e gfafds ura @ 2

An object is placed at a distance of 25c¢m from a concave mirror of focal length

15cm. At what distance should a screen be kept from the mirror so that a clear

image is obtained on the screen.

12) 3ifom dfaa & 99 fooft faemeft &1 vamuee W forar gom yed # wfearE exft 2

gz faemli foa gfic Ay & difed €1 39 T & SO 81 & 1 SR faRay |

9 SIY B [ YpR HNET fhar S Al 8 ? Vot 14+4=2




A student has difficulty in reading the black board while sitting in the last row.
What could be the defect the student is suffering from ? Write two reasons for the
occurrence of this defect. How can it be corrected.
13) TIRT &1 91 81U &7 | forRay | 2
Write Fleming's left hand rule.
Section — C
EICESHNEIES
14) DRI I8V | 1+1% =3
Give reason:-
i)  TRCR A IR BT ATERE a9 H @1 @1 ST d1i2g ?
Why plaster of Paris should be kept in a moisture proof container.
ii) omAfd ST fagqa &1 @i i 81 Bl & Siaid 991 ofdl sial & ?

Why is distilled waternot a conductor of electricity while rain water is ?

T
PR IATSY | 12+1% =3
Give reason:-
i)  HCl STeirg fdera # =ity eiffieteror weffd #xd & Siafh Uebied @ fderadl #
AT & Sfrcteror UefRid T8l B 2 |

HCI show acidic characteristics in aqueous solution whereas it does not show acidic

characteristic in alcohol solutions .
i) U TRSIGAIRG 1 Y fored™d v & T B ®f T8 ggerht 8 ?
Why does dry hydrochloric gas not change the colours of dry litmus
paper ?
15) i) T fREeE o fafa= fafeat awsmsy | 2
Explain the different methods of contraception

ii) FTgEa &9 Fed 87 1



What is menstrual cycle?

3T
i) Te PIRM®T Sial § g S drell Uoi+ @) faferdt sy | 2
Describe the methods of reproduction found in unicellular
organism .
ii) BTERT H B Ay | 1

Explain budding in Hydra .
16) i) wOrdl ud fawaad # ok qarsy | 1
Explain the difference between autotroph and heterotroph.

i) 0 T TN gasy R srta feiaxoi gerel gataRer @ gWifad aRd ® | 2

State two ways in which non-degradable substances affect the

environment.

T
i) STefra <At @ = Il o8 ¥ fafay s te Sfia R &1 @11 § ao
Tdh QT ST &1 RITOA] HIIY 594 HF 9 $HF 3 () =R0T & | 3
71— — [ ]
Write the names of aquatic organisms in the order in which one

organism eats the other and establish a chain which has at least three steps.

— —

17) Ry,Rp @ RURRIY & 9 iRl & sroft 8 Ao &1 uRuer form a9ra aRue
BT Bl URY (Jod UfcRIE) ST &R BT G UTS DI | 1+2=3
Draw a circuit diagram of the series combination of three resistors of resistance Ri,R»
and R; and obtain the formuta to find the total resistance (Equivalent resistance) of the

Circuit .

AT



R1,R2 T RUFRE & 9 UfeRIg®! @ URd (F9R) A \diord & aRuY s 99rar alRuer
BT Rl URIY (Jod TicRIE) ST DR DT G UTe DI |
Draw a circuit diagram of the parallel combination of three resistors of resistance Ri,R>
and R; and obtain the formula to find the total resistance (Equivalent resistance) of the
Circuit.

Section - D
BERCIS R
18) f=ferRad & TUPACATH®HRUT HIFTT — 1X4=4
i)  CH;CH=CH, ii) CH; CH,-OH
i11) CH; CH,-CH,-CH,Cl iv) CH; CH, CH, CHO

Give IUPAC nomenclature as follows.
i)  CH;CH=CH, i) CH; CH,-OH
i11) CH; CH,-CH,-CH,Cl iv) CHs; CH, CH, CHO
J7qdT
ferfeTRad Tt Bl FRFT 918U —
i) Vg ® 3TFd ii) S
iii) e iv) SRS

Draw the structure of the following compounds

1) Ethanoic Acid i1) Bromo pentane

111)  Butanone 1v) Hexanal

19) 1) AT Urad TF BT AMifhd = 9=y | 2
i) METIR | ScAfIT 7RI BT AH 9 B ISy | 1
iii) TMHERI STl H g™ & T8 el Fi 8l 8 2 1
i)Draw a labelled diagram of human digestive system.
ii)Name and describe the function of the acid secreted by stomach.

iii)Why is the length of small intestine longer in herbivorous animals?



AT

i) 99a ScASE dF BT AHifed fE 9918 | 2
ii) g9b & PIg & B aRIY | 1
iii) o4 arared f&d Ped 2 ? 1

i)Draw a labelled diagram of human Excretory system.

ii)Write any two function of kidney.

iii)What is artificial dialysis.
20) UBIA & URIGA | 1T FIT A © ? 37adel U Bl HeIdT | Ufdfdd Ul &= &1 fovor
ICEICRIEPASEIES 1+2+1=4

i) fam (@) s &= (C) R Rerd 21|
ii) fom (awq) wiea (F) w” Rerd &7
SWRIF a1 Rerferai § uret ufcfdd &1 amdR g gala W fRkag |
What do you understand by refraction of light? Draw a ray diagram to obtain the
image with the help of a concave mirror when :-
1) The object is located at the centre of curvature. (C)
1) The object is located at focus (F)
Also write about the size and nature of the image obtained in both the

above situations.

reran
THIL & 3Tac AT T FHIA & ° I ol DI FeradT o gfafdd g e &l
fpor o a8y STafdr —

i) o (avq) o = Rerd 21|

ii) fa% (a%q) 2F; 9 F1 & Heu Rerd |
SR gFi Reaferai @ yra ufafdg &1 R @ ygfa W falkay |
What do you understand by refraction of light? Draw a ray diagram to obtain the

image with the help of a convex lens when-



1) The object is located at infinity.
11) The object is located between 2F; and F;

Also write about the size and nature of the image obtained in both the above situations.

Q-
&
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favg —amfoTe fasm

gy — 3 gv¢ 15 fAC qurich— 80
1, I TPAPHR—
%9 SEGEP SICIN gforera
1. EIS| 23 28.75
2. | 3raqrr 25 31.25
3. SIRIECIE 15 18.75
4, DIl 8 10.00
5. JITU 9 11.25
AT 80 100 %
2 gel & UHRARIBAR—
$.| U BT UPR (U bl | Db | wosie | Fayd | ufderd | @wrfad
F&r | gl (a7epT ) (oreit Ay
)
1. | Igfddbear® 18 1 18 225 33.96 24
2. | Raerm= 6 1 6 75 11.32 6
3. | AfdeTgRIHD 12 1 12 15.0 22.64 24
4. | THIRIHSD 10 2 20 25.0 18.87 50
5. SISk 4 3 12 15.0 07.54 40
6. | FeuTH® 3 4 12 15.0 05.66 51
ART 53 80 100 100 195
e
fdhey IIoT : Wvs ' TG T H B
3. fvy axg @1 IPUR—
4. [ERRIEESS PR gfererd
1 | I H IEAE BT 3T 4 5
2 | ¥RT # eI 4 5
3 | qAUSAIGa fdea &1 g 4 5
4 | ierfieRor &1 g 4 5
5 | g8V Wepld IR smgfie g 4 5
6 | e 3R faard 3 3.75
7 | 99 3R a=oiig e 2 25
8 | ST |HEH 3 3.75
9 | M 3 3.75
10 | SIS Tm Sor AT 4 5
11 CIRKILISEIE 2 2.5
12 | T SrfEraReT HI Siad NETy 3 3.75
13 | <1 D AERER 4 5
14 | HHdare 4 5
15 | S &9 3R it T 4 5
16 | XTSI <ot 5 6.25
17 | b= & aRomA 3 3.75
18 EEAN 3 3.75
19 | RGN TRl & 5D 5 6.25
20 | G IR W 5 6.25
21 | dTARRIT R AR Sreferawer 5 6.25
22 | SUHRHT JfEBR 2 2.5
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T — X v — |rfse I |AA: 03 15 e quUIidh— 80

7. T T e e e e =
| PR/ SUSHS L L

1| JRIY H IMgarE Bl S W 1) 2(1) 43)
2 | WRd H rgarg 40" 401y 41
3 | pvseliepd favg &1 9 | 1(1) 2(1) 403)
4 | Sferfiepxor B T 1(1) 3()* 3(D* 4@
5 | GSUT ALHI SR M 0 0 0 - s
6 | AN MR fadr 1) 21 32)
BEEEGESEEESICE 1) 1(1) 22)
8 | STl wHwH 3(1)* 3(1)
o | 1) 21) 32)
10 | @IS TJoIT Sl ddTed 4(1)* A1)
11| fafmpr SerT 1(1) 1(1) 20)
12 ﬁ JrfeaReyT B Siad 0 o 1(1) )
13 | < 1 TSR 1) 21) 1) 43)
14 | dearg 1(1) 3 42
15 | ST &¥ 3IR <ifireh 74l 1) 11 2(1) 43)




&, gvey e S T forerar w
. | SR /SUsSHs
16 | Yorfa® g
1(1) 4Q1)* 5(2)
17 | dliepds @ o 1(1) 1 | 1 33)
18 | famra 2(1) 1(1) 32)
19 | YR JTTaRAT & &b 1 2(1) 1) 53)
20 | 4T 3R A 1(1) 1(1) 3(1y* 5(3)
1(1
21 | dediaRoT R AR M 1w |1 21) 5(4)
Srefegaren
22 | SUHIHT AfTHR 1 1M 2(2)
Rl nan | 3¢ |29 | e 66) | 33) | %© | 63 41 | 11 1(1) 93) | 4(1) 42 4n 6(3) | 3(1) 80(53)
23(21) 25(19) 15(6) 8G3) 9(4) 80(53)

Rpcdia AT (— W8 | TG T AUAPH Ueh AdRBAboue-lc—hIcd B glex Bl Gl ‘Hhl’ Bl TARER & &l g & edde |




Areafis RET 918 o™, SR
Hiscl ¥ U AEAAS qNIET 2025
fawg: | fasi (SOCIAL SCIENCE)
hE— 10
|9g: 3 " 15 faee quid: 80
RIETet & forg | e
GENERAL INSTRUCTION TO THE EXAMINEES:
1. Teeff |duem e T U R AMie Jffarid: ford |
Candidate must write first his/her Roll No- on the question paper compulsorily.
2. 9T U9 A AHfart 2|
All the questions are compulsory.
3. U U BT IR I Mg IR YRS H 8l i |
Write the answer to each question in the given answer book only.
4. O w1 § A<IR® Wos &, I Il B SR TP 0 & o |
For questions having more than one part, the answers to those parts are to be written together in continuity.
5. U3 B IR @ A Yd U= BT HAiD Aavyg ford |

Write down the serial number of the question before attempting it.

6. U3 UF & Rl g 3G WU ¥ ¥l JbR 1 Ffe /R / faREmE 89 iR f{=T w1
@ U DI B Fol A4 |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the question of
Hindi version should be treated valid.

7. U39 HYh 14 ¥ 20 ¥ ARG fdhed 2|

There are internal choices in Question No. 14 to 20.
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SECTION- A

1. 9gfdhcuTcid U

(= xvin): 71 oAl & ITR BT 1 [Adhed T99 B IR GRADT H oIy |

Multiple Choice Questions

Choose the correct option to the following questions answer from multiple choice question- (i to xviii) and write it
in given answers book.

() 1834 ¥ fHA I BT UBST W SRS Yob Fe YT fobar T ? 1
(3r) amfgar (&) sr=m

() fae= (@) =4

On the initiative of which state in 1834 was the Zollverein custom union established ?

(A) Austria (B) Prussia

(C) Britain (D) Russia

() STH 9 A I H BTl 93T §=. KU A TS Sl © 7 1
() =Ramom (@) HBRTS

(|) XToTeI= (]) INEvs

In which of the following states black soil is Predominantly found ?

(A) Hariyana (B) maharashtra
(C) Rajasthan (D)Jharkhand

(1) IR G Silg AREToT ffEfFTH d oy fohar ar ? 1
(&1) 1970 (&) 1971

(@) 1972 () 1973

When was the Indian wildlife protection Act. Implemented?

(A) 1970 (B) 1971

(C) 1972 (D) 1973

(V) T § ¥ DIET SERT AT YR Dl dhed ATl & v H UgTh BT &7 1
(31) BT (@) e

() (]) AT



Which of the following industries uses limestone as raw material ?
(A) Paper (B) Cement

(C) Steel (D) Motor vehicle

(v) =1 # 9 DI |1 ulRae e qRd W IS e 87

(&) wrgTeTTE @) <ot uRae

(w) g aRaeT (3) WP uRas

Which one of the following is the most important modes of transportation in India ?

(A) Pipeline (B) Railways

(C) Airways (D) Roadways

(vi) =T # 9 5 qur ¥ fdeg § @9 UBSl IO B dhAle [dbad gs ol ?
SURCIEI @) sivs
(@) = () W

In which of the following countries in the world was the earliest kind of print technology developed?

(A) Japan (B) England

(C) China (D) India

(VIl) STRFATe §IRT 9911 T 919 & Soid &l Sciad [ gRT fhar Tar ?

(61) =gt (@) et gep
(W) #oy geed (=) faer o
Who produced the steam engine designed by James Watt ?
(A) Newcomen (B) Michael wolf

(C) Matthew Boulton (D) Will Thorne

(Vi) 9 favag (1914) H A3 I & WA H DIFET g AMHA T2l o ?
(@) faes (@) Wi

SRS (=) wa

Which nation was not included in the Allied Camp in the First World War (1914) ?
(A) Britain (B) France

(C) Germany (D) Russia

(IX) ‘MR SHe’ ATHG BT fhae fordy ?

(37) g < (q) Darer qRET <4



(%) vraTS () ameTg fRre
Who wrote autobiography titled 'Aamar Jeeban'
(A) Rashsundari (B) Kailash Bashini Devi

(C) Ramabai (D) Tarabai shinde

(X) STABT a I Hg g7 2

(a1) 1944 (€) 1946

(|) 1948 () 1950

When did Sri Lanka become an independent nation ?
(A)1944 (B) 1946

(C) 1948 (D) 1950

(xi) Frifra ® <1 Ao g2 &1 v =8 —
(31) ¥irar e (@) face werer
(@) dfdT () fRre

Which of the following is not a subject of the union List -
(A) National Security (B) foreign affairs

(C) Banking (D) education

XN RT § 71 & W Afgemet @ fofu Retor &) yaRer g —

(3) <iep (@) TST |

(|) faem= g« (]) TEARIIRTST DT HLATY
In India reservation for women in which of the folioing -

(A) Lok Sabha (B) Rajya Sabha

(C) Legislative Assembly (D) Institution of panchayati Raj

(XIll) TRATT AThas H el vl & —

(31) TP Tl (d) 3T g

(\) sgacia (%) 379 & BIs &I

Party system in Indian democracy is -
(A) One party (B) Two party

(C) Multi party (D) None of these



xiv) Fr=ifed & 9 fh oma= gomTell d SRR ORGR &l e+ 8IdT &—

(31) oArepa= (@) roTaA

() dTRITR (@) a |

In which of the following system of government, responsible government is formed-
(A) Democracy (B) Monarchy

(C) Dictatorship (D) All of these

(xv) fa%g ¥ & AR A= <9 d [P & AER W o1 w1 & oy fbq
ATICEUS BT YT fhar ST 28—

(31) N 3 (@) ufar <afh 3m

(%) = 3 (=) forot sma

According to the word Bank, which criteria is used to compare different countries on the

Basis of development

(A) National income (B) per capita income

(C) Household income (D) Personal Income

xvI) FFr=ifhd & & Bl Ale SR oRaT & —

(@) R T §b (@) d& i gfo<ar
(@) R Rea I () sfUsad d&
Which of the following issues currency notes -

(A) State Bank of India (B) Bank of India

(C) Reserve Bank of India (D) Indian Bank

(xvil) L & & STHRBT @I MfBPR T8 2 —

(o1) T O T eI (&) =TT B AETDR
() GRetr &1 DR () DT H HHI BT IMTDBR
Which of the following is not a consumer right -

(A) Right to be informed (B) Right to choose

(C) Right to safety (D) Right to reduction in price

(XVIIl) IR IR Bl ISR 917 dTeil AvqT & —
(31) fdzq =R TS @) faeg &
() |g<H I HY (T) RIS HaT By

The organization that liberalizes international trade is -

(A) World trade Organization  (B) World Bank

(C) United Nation Organization (D) International Monetary Fund



2. Reh Il &1 gfd BT — (19 vi)

Fill In the blanks : -

...................... is the main food crop of India-
(iii) T QW & FeT TRIIN B FATAR BT oo FEd 2|
Trade in goods between two countries is called .................. .

(iv) ol T We—qer aref ... BT T AT HRAT ol 8 |

Democracy does not simply mean ruling by the opinion of .................... y

(v) U O] T WIHidd FHEAN H I ... &P B TS T |

Production of a commodity from natural resourcesis a ...........ceceeeennneen. Sector activity .

0 YR 3[ARIYD Bl TUh ISTEN 2 |

...................... is an example of trade barrier .
3. SANTAGIRTAD T - (1 4 XiI)
(Fr=1 == & IR TP W= AT UG dfth H o)

Very Short Answer type Questions :

(Answer the following question in one word or one line)

(i) STHTHT H 1890 & TH A DT fTART Aol | Hell 2

Which disease spread rapidly in Africa in the 1890 ?

(ii) "JSOT $%R B <1 §g HSWIH o ©, Fad g1 AWl |" IuYch AT [hadl 2 ?
" Printing is the ultimate in something from god, the greatest gift." who said the above ?

(jii) OTF T JNTeCH fEdl =1 1780 H hd AT YD BT AR g fbar ?
Which Weekly Magazine did James Augstus Hickey start editing in 1780 ?

(iv) g 99 I Ut g I § Rerd g 7

Sunderbans Natinal park is located in which State ?

(v) IRT BT YA Gl a8 TN Hal T 137 ?

Where was the first cotton textile industry set up in india ?
(vi) TR Nerd &I fvaw @vel # dfer 1 g 2
Indian Railway is divided into how many Zones ?

(vii) TRIGRT Y HT AT el 2?

Where is the headquarters of European union ?

(vii) "&F BT BT AT TSI I 31T A8t fhaT S Fhdl Ig fodaT der o1 ?

Who said that "religion can never be separated from politics" ?




(ix) AP DT TP faRIwar faRg |

Write one feature of democracy .

(x) ART STHT T &7

What is demand deposit ?

(xi) TERTSEI ol fhst e 2°

What is called a multination company?

xii) SUTRAT TRETT A9 oa gtRd fhar Tar?

Consumer protection Act. Was passed?

yvg — ¢
SECTION-B

THTRIAD T — (IR AT ST 50 9Meq)

Short answer type questions - (Answer limit about 50 words)

(4) fa=r |fY (1815) & <1 uRomy dargy | 1 +1
Mention any two results of Treaty of Vienna (181 5) .

(5)XTM ART & R H AT AT S 872

What do you know about the silk Road ?

(6) PT-T BN b Tl GAH WH B UR $7hT AT Siiad il IR R J91d ITT 2

Imagine, if the oil supply gets exhausted one day, how would this affect our life style ?

(7) IR BT T QT B BT A1 Id10 AR S8l Ig &l & Sl & S &3 Bl

faavor | Vatr1Vs =
Name of one staple crop of India and the regions where it is produced.
(8) TAT BT ATIHERT T STox] © 2.l PRl oIy | 1 4+ 1=

Write two reasons, why power sharing is necessary ?
(9) =2l T WIaer=i &7 fSTsh B SII MRA BT g4 FRUeT < 997d % | 1+ 1=
Mention any two constitutional provisions that make India a secular state .

(10) T TTHIOT SHIR. RS FfAFIH, 2005 BT ORI ISV |

Explain the strategy of National rural employment guarantee Act. 2005.

(11) Gl SRISFTRT 3R J28~ SRIGHRT § 3R DI | 1+ 1=

Difference between open unemployment and disguised unemployment.

(12) ITSDHROT F Y FIT AHT 272

What do you understand by globalization ?

(13) TATEROT H ARG & BB VA IQTERVN &l Gl g9, Sl MU U AU
< gl |

Make a list of some examples of environmental degression that you have Seen around you.

N
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SECTION-C

o

SRR U3 — (STR AT & T 100 31eE)

Long answer type questions - (Answer limit about 100 words)

14. 33 30T HFAT =1 IRARI Al I ST BT DY daiq (a1 ? A=Y | 3

How did the East India Company ruin the Indian Cotton textile industry? Explain.

3121471 / OR

3iENfiTe HIfT @ Favid 8U SIIShRI TR Udh g faIlay |

Write an article on the inventions under the Industrial Revolution.

15. MO H I STl FUBY & TRIdb] $I GaT § IR DITT | (B15 Q1) 1%+1% = 3

Briefly explain the methods of rain water harvesting in Rajasthan. (Any two)

31791 / OR
frifdha @ T By |
(i) STt Sfred fAeE (i) 99 fgu Riarg gomel
Explain the following-
(i) Jal Jeevan mission (ii) Bamboo Drip Irrigation
16. RA H HEI FaRAT B FHIEAT DIOTY | 3
Review the federal system in India .
3721dT /' OR

Aoare 7 87 Wudie &1 HedqYl (RNl &l garsy |

What is federalism? Explain the important features of federalism .

17. 971 faf9g &1 ve Hegd € 98 axg fAlFwa & <19 BT gR PRl € |
ARYT BIfTY | 3

Money is a medium of exchange. It removes the defects of barter- Explain.

379141 / OR
0T & NTTTRS AT SHIUANNG Fldi BT fad==T BT |

Discuss formal or Informal sources of Credit.
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SECTION-D

M-S 93 — (STR AT S THIT 250 9161)

Essay Type Questions - (Answer limit about 250 words)

18. G 31T 3ol & faRdR I goiF BT | 4
Describe the civil disobedience movement in detail.

379141 / OR

HRA H TG ST & HRON R Udh o oIy |

Write a essay on the reasons for the growth Of Nationalism in India.

19. AP H H SIS el DI AT el &1 e S | 4

Explain the various roles of political parties in a democracy.

J127dT / OR

ST ol & BT B AT P |

Explain the functions of political parties.

20. 729 &1 SR 3y T 9 § Ofim — 114141 = 4

Write the answer in the given map -

f=ferRad dot & & IR & @1 AR § Sifdhd HIfo |

Mark the following oil fields on the outline Map of India

(31) TS BTS (Mumbai High)  (d) 3i@el¥eR (Ankaleshwar)
(%) f$74TS (Digbol) (T) S (Bassien)
3121471 / OR

f=forRad g v fATdd Ol & YRT & &7 A3 § Iifbd HIU |

Mark the following iron ore exporting ports on the outline map of india.
(31) H’I‘:ﬁ—"ﬂi’aﬁ(Marmagao) () H"Iﬂfé (Mangaluru)
SR NELR (Paradwip) (_Q')ﬁ'?'l'l'@lm (Vishakhapatnam)



U9 Pl IIoT-12024—2025

e —10th
fawg —rforg
3Gy — 399 15 fAAe quTid— 80
1. ITYT TRIIHIR—
.94, SEEra JHIR ufererg
1. |9 24 30
PRECEIE] 24 30
3. | SR 16 20
4. | PIETA 8 10
5. | faweryor 8 10
AR 80 100
2, U3l & THRARIGHR—
F&r | gl (a7eBT ) (oreit Ay
)
1. | 9gfdddTcHD 18 1 18 22.5 33.96 36
2. | Raa=em 6 1 6 75 11.32 15
3. | AfdeTgRIHD 12 1 12 15.0 22.64 42
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SECTION- A

1. ggfamedt U= (9 xvi): 99 T2l & SR &1 98l [Adheu a9 B Sz gRaer #
ferfay |

Choose the correct answer from multiple choice question- (i to xvi) and write in given
answers book.

(i) H=mRIl 6 3R 20 &7 ST OIS fafd H Lem e —

@) 2 @) 120 @) 60 (3) 6

LCM of 6 and 20 by the prime factorization method is -

A 2 (B) 120 0 e () 6

(i) 98U x* —7x+12% YIDI BT AT § —

@) -7 @) 7 &) 12 (]) -12

Sum of the zeros of polynomial x* —7x+12 is -

(A) -7 (B) 7 (C) 12 (D) -12

(iii) BT 3x+2p=7H Xy &1 A 5 & Ay HI A & —

@) 4 (@) —8 (%) —4 & o

In the equation3x+2y =7, if the value of x is 5, then the value of y is -

(A) 4 (B) -8 (C) -4 by o
(iv) <1 IS 3MTeRfT H DE 11 BC, AD = 1.5 cm, DB = 3 cm AT AE = 2cmz dl EC HT AN ©

2]
/ £
4%.___ =
A \
o
P
'./

=

@) 6wl @) 4 3 (d) 45 991 () 35 9H

In the given figure DE Il BC, AD = 1.5 cm, DB = 3 cm and AE = 2 cm, then the value of EC is -



(A) 6cm (B) 4cm 45cm (D) 3.5cm

(v) T3l (2,3) 3R (56) & 91 @I T & 1
@) 243 @) 32 () 18 @) 6
The distance between the points (2,3) and (5,6) is -
A) 243 B 32 © 18 (D 6
(vi) IfE 0 =45°TT @I Miﬂqﬁ%\'— 1
sin 26
@) 1/2 @) 2 (@) o ) 1
If § =45°then the value of 1_'cizeis -
sin 20
(A) 1/2 (B) 2 (€) 0 D) 1
(vi)) U SR B B oIS TAT SHBI BT BT F&TE BT A 1:4/3
g A gF BT ST BT 28— 1
(@) 300 @) 45° (&) e0° (3) 90°

If the ratio of length of vertical rod and length of its shadow is 1 : \/3 then the angle of elevation of sun
is-

(A) 30° (B) 45° (C) 60° (D)  90°
(viii) IS T fd7g P | 0 B dTel BT gx TR PA, PB TR YWY TRWR 80° D DIV TR
@1 B AT LPOA SRTER o— 1
@) 500 (d) 60° (9) 700 ()  80°

If tangents PA and PB from a point P to a circle with center O are inclined to each other at angle of 80°
then ZPOA is equal to -

(A)  50° (B) 60° (C) 70° (D)  80°
(ix) 14 T 9o aTel O ¥ 99 o g Bl aRfY ERf— 1
@) 22 3 (@) 44 3 () 33 W1 (]) 55 &I
The circumference of incircle of a square with side 14 cm is -
(A) 22 cm (B) 44 cm (C) 33cm (D) 55 cm
(x) PIOTOTT FFRGUS & [T AT DY TS 28— 1
0
3 x 2 q x2 ~ x 2 < x 2
&) fgge ¥ 27 ) g2 Q)ggx2ar (&)
Length of an arc of a sector of angle is -
(A) X 27r (B) b X 27r (Q i><27rr (D) b X 27r
180° 360° 90° 720°



(x) o9 & Uh YS B URAY 28 WA & Al & BT 3MATH o— 1
(@) 343 TP @ 196 WP (@) 204 FHe () 4144 TR

The perimeter of surface of a cube is 28 cm, then the volume of the cube is -

(A) 343 cm? (B) 196 cm? (C) 294 cm? (D) 4144 cm?

(xi) T R1a® B IT IR IBTAT Al 2 | B A HA (P O A & Uilidbar g — 1
(@) 1/4 @ 1/2 (@) 3/4 () 1

A coin is tossed twice. The probability of getting at least one head is -

(A) 1/4 (B) 1/2 (C) 3/4 (D) 1

(i) T ATH AT RRRV27 BT T BRA W U UThpd Wl Ui @l 8,98 81
(1) 3 @ 3 @) 9 @) 343

The lowest number, when multiplied by \/ﬁ gives a natural number is -

(A) 3 |8) 3 (€9 (D) 33

(xiv) 98UG & x’ —x—6LID o— 1
@) 1.6 @) 2, -3 &) 3—2 () 1-6

. 2
Zeros of polynomial x“ —x—6are -

(A) 16 (B) 2,-3 (© 32 (D 1,6

(xv) FTHIBROT 3x-5y+k=0 ¥ AT x=2 TAT y=-2 B @l K BT A & — 1
@) 16 @ -6 (|) 6 (]) —16

In equation is 3x-5y+K =0, if x=2 and y=-2 then the value of K is -

(A) 16 (B) -6 (C) 6 (D)  -16

(xvi) AD 3R pM Il ABC IR PQR &I HHS: AIAHGIY B, STafdh AABC~APQR

2 Ife AB:PQ=3:5 & dT AD:PM & — 1
@) 53 @) 9:25 (|) 35 (%) 25:9

AD and PM are medians of triangle ABC and PQR respectively, where AABC~APQR, if AB:PQ = 3:5
then AD:PM is -

(A) 53 (B)  9:25 (C) 35 (D) 25:9
(xvii) 10 HIeX HAT AR & RRER ¥ gedl W U {5, BT a9 D17 30° T | fa=g
AMR & MR 4 ¢ & 1
@) 1043 e (@) \1/_—2% (@) 10 #ex (@) 5v3%ex

From the top of 10m high tower, angle of depression at a point on earth is 30°, distance of point from
base of tower is -

A) 1043 m (B) %m (C) 10m (D) 5v/3m

7
(xviii)g® AR TR &) IRBTS,GH DI Hdlg & aRER & Al GI B I+ BT RT—1

(@) 450 @) 30° (|) .00 (%) 50°



The shadow of a vertical pillar is same the height of pillar, the angle of elevation of sun will be -
(A)  45° (B)  30° (c)  60° (D) 50°
2. R =l & gfd ST (3 vi)
Fill in the blanks (i to vi)
() IfE 3,7,9x5 BT TR A 6 BT Al x BT AT oo BT | 1
The arithmetical mean of distribution 3,7,9,x,5 is 6, then value of x will be ............
(i) 975l (3,a) 3R (4,1) @1 414 &1 X V10 &1 Al a BT A ..o BT | 1
If distance between points (3,a) and (4,1) is V10 then a will be ...

(i) 2sin® 60° cos 60° BT AT Bovvvrrrrrre 1

The value of 2sin* 60° cos60° s ...............

(iv) Th 99 D RIX BT B 154812 TAT $HD! HaTs 21 FH! & I BT A ...
. BRI 1

The volume of cylinder whose height is 21cm and area of its one end is 154cm?, will be

(v) 9S 357,421,434 BT IGAD ............ = 1
The mode of the distribution 3,5,7,4,2,1,4,3.4 is .............

(vi) 10 3R 250 & &1 H ... |, 4 & O & | 1

............... numbers between 10 and 250 are multiples of 4.

3. 3fd gD U

Very short answer type questions-

() B9 g9 @1 AT S BINT [T &9%d 497 a1 A 7 | 1

Find the radius of the circle whose area is 497 cm?.

(i)TF O DI Hdpd TR FH idh M & URIHAT ST BT | 1
Find the probability of getting an even number on throwing a dice.

(iii) 10¥F 7 9T aTet B9 & IS0 @l T A DIy | 1

Find the length of the diagonal of a cube of side 10cm.

(iv) T TG T & IMER @] FodT 531 T Hdls 12 W4l § I oq &1 fads
EEISEISECEIIE I 1



If the radius of base of a right circular cone is Scm and height is 12cm then find the slant
height of the cone.

(v) g2 1,3,2,5,9,11 BT ATTH ST BIFOTY | 1
Find the median of the distribution 1,3,2,5,9,11.

(vi) g2 3,7,5,2,6 BT AT A DITOTT | 1
Find the mean of the distribution 3,7,5,2,6.

(vii) A P(A)=0.65 B, AT "A T&I" BT UTRIHAT ST BITSTT | 1

If P(A)=0.65, then find the probability of "not A".

(viii) 2(eh DT AT S D1 DI g oy | 1
Write the formula to find the volume of a cone.

(ix) a¥f et (10—25) & I°f fog S BT | 1
Find the class mark of the class interval (10-25).

(x) T Fa H 7 ol TAT 3 B DA B | IS 5H I H ¥ TP Hhal Jigead] e
SITAT &, a1 91 a1 UTRiedT & fh I8 dar gha” 7 1

A box contains 7 blue and 3 white marbles. If a marble drawn at random from the box, what
is the probability that it will be "white"?

(xi) TfT TP T BT AT, 44872 FH° IR FpaTs 7 T4 © AT doid B 3roam sa
T | 1

If volume of eylinder is 4487 cm’ and height is 7 cm then find radius of cylinder.

(xii) T2 10 a9 Ut AEARI BT FHR AR ST BIOTY | 1

Find the arithmetic mean of the first 10 odd natural numbers.

GUS— g
SECTION-B
4. Rog BIRTT3+2/5 78 ey dw= 2| 2

Prove that 3+ 2\/§ is irrational.

5. 9gUS X" —3 @ YD A DI AR IRIBI TAT 0D & 41 & T B FAAT DI Sird
BIFSTY | 2

Find the zeros of the polynomial x* —3 and verify the relationship between the zeroes and the
coeffcient.



6. ST 3Bl B TUh T UG ISP 3(hT BT Folcd TR g+l H&IT BT ANT 66 & | Ife F=AT
P 3fPT IR 2 B AT AT T HITT | AT Fvear fohaT 2 | 2

The sum of a two-digit number obtained by reversing the digit is 66, if the digit of number differ
by 2, find the number, how many such numbers are there.

7. Ife Y AP. & UUH 14 UST BT ANT 1050 & TAT BT UUH US 10 g, d 20 df US
ST HIFY | 2

If the sum of the first 14 terms of an A.P. is 1050 and its first term is 10, find the 20" term.

8. 41 7§ 3Mhid H AODC~AOBA ,£BOC = 125°R/CDO=70° B, A L0AB
B | 2

9. a5l A(2,-2) 3R B(-7,4) BT SIS ATl YWRITS BT FHA—FITT B dTel fa=gall &
fdenia sa S | 2

Find the coordinates of the points of trisection of the line segment joining the points A(2,-2) and
B(-7,4).

10. I tan(A+B)=+3 3R tan(A—B):%;O"<A+B£90°;A>B%\* ar A IR B @& AM

ST BINTY | 2

If tan(A+B) = V3 and tan(A-B) = L; 0° < A+B<90°; A > BFind A and B.

V3

11. 15 HIex od1 U% UeTd T foil 9§ 285 HIeR &l g4 W & | I9a@ i@l o i
P RRER &1 S=I9 BIvT 450 © | Foie1 &1 S8 9ad1sy | 2




A tower stands vertically on the ground. from a point on the ground which is 15m away from the
foot of the tower, the angle of elevation of the top of the tower is found to be 60°, find the height
of the tower.

12 Q1 A=l gall B BFarg 5 T qA1 3 W 2| IS g DI I Slal bl oA™lg A
DINTY ST BIC I DI WL AT 81 | 2

Two concentric circle are of radil Scm and 3cm. find the length of the chord of the larger circle
which touches the similler circle.

13. a1 12 941 a1l U T D1 BIS SiHaT s WR 1200 BT DIV JAART BT & | G
JORITS BT &ABE FId DITY | 2

A chord of a circle of radius 12cm subtends an angle of 120° at the centre. find the area of the
corresponding segment of the circle.

Yis— Y9
SECTION-C

14. I fHAT AP. & U2H 7 UGT BT INT 49 & AR ULH 17 UKI HI IRT 289 &, Al $HD
UH n UGI ®T IRT 1A HIFTY | 3
If the sum of first 7 terms of an A.P. is 49 and that of 17 terms is 289, find the sum of first n
terms.
31qdr / OR
I8 AP. ST PINTY FTADT RIRT U< 16 &, iR 7 @1 U 5.d US 9 12 31 T | 3

Determine the A.P. whose third term is 16 and the 7™ term exceeds the 5™ term by 12.

15. quisd & a5 (1, 7), (4, 2), (—1,—1) 3R (4, 4) TH 97 & AW 7| 3
Show that the point (1, 7), (4, 2), (—1,—1) and (—4,4) are the vertices of a square.

31141/ OR
I A 3R B AT (—2,-2) AR (2—4) 81 A1 95 p & Fewn® S HISY difds

AP:%AB?ISﬁ'\’PW@ABCI—\’ﬁ%?H 3

3
If A and B are (-2,-2) and (2,-4) respectively, find the coordinate of P such that AP = 7AB and P lies on

the line segment AB.

16. Rg @Y & &N ga & aRvTa IR s TFagds 8ar & | 3
Prove that the parallelogram circumscribing a circle is rhombus.

31IdT / OR
g ST {6 g & IR 99 IS B AF—HET DI oIl dws IR FYRD DI
faRd &=l B 3

Prove that opposite sides of a quadrilateral circumscribing subtends supplementary angles at the centre
of the circle.



17. T Hell & BE & IR = 9ol § o T 28—

qR (fear #) | 20 21 22 23 24 25 26 27 28
Bl DI 1 2 6 7 4 2 3 2 3
Ksren
SIh] FHIIR AT SITd HIfIY | 3
The weight of students in a class are given in the following table.
Weight | 20 21 22 23 24 25 26 27 28
(in
Kgs.)
No. of 1 2 6 7 4 2 3 2 3
Students

3qdr / OR
i =1 §e &1 A1y 7.5 8, A P BT A4 A1 DI | 3
X 3 5 7 9 11 13
f 6 8 15 P 8 4
If mean of the following distribution is 7.5, then find the value of P.
X 3 5 7 9 11 13
f 6 8 15 P 8 4

ges— ¢

SECTION-D
18. U&% FHDIVL Sl &1 $a18 SS9 MR A 7 ¥ oA 2| Al &of 13 30 &1 &1, @
3 T YOI SId IfTY | 4

The attitude of a right angled triangle is 7cm less than its base.If the hypotenuse is 13cm, find the
other two sides.
3qdr / OR

SRl 3x2—2x+%=035T Rfyaey o1d AR R B o @ Taf st SR
afe 9 IR<fdd §, A1 S S DI | 4

Find the dircriminant of the equation 3x?-2x='/3=0 and hence find the nature of its roots. Find them, if
they are equal.

1+cosA
1—cos

19. Ig HIRY —

= cosecA + cotA 4




/1 +cosA
Prove That,|[————— = cosecA + cotA
1-cosA

g dIfSTT —

sin® A +cos® A=1-3sin’ Acos* A
Prove That

sin® A +cos® A=1-3sin’ Acos* A

20. ¥ IRARAT 41 ¥ qgTd S1d DIfTI—

AT / OR

EISIED 20—30 30—40 40—50 50—60 60—70

BT & AT | 4 28 42 20 6

Find the mode of following frequency distribution.

Marks Obtained | 20-30 30-40 40-50 50-60 60-70

No. of Students 4 28 42 20 6
AT / OR

100 IRIRI ¥ T=ai B AT 9 YR 2B, 7T Tedd SId DIy —

gl DI A= | 02 2—4 4—6 6—8 8—10

IRaR} P =T | 38 36 18 5 3

The number of children in 100 families are as follows, find their median.

No. of Children 0-2 2-4 4-6 6-8 8-10

No. of Families 38 36 18 5 3
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